

1) Give the conjugate base of the following Bronsted-Lowry acids:


a) H2SO3			___________________________


b) HC2H3O2		___________________________


c) H2AsO4-		___________________________


d) NH4+			___________________________



2) The hydrogen oxalate ion (HC2O4-) is amphoteric. _________________________________


Write a balanced chemical equation showing how it acts as an acid toward water:







Write a balanced chemical equation showing how it acts as a base towards water:








Label all A, B, CB and CA.











3) Give the conjugate acid of the following Bronsted-Lowry bases:


a) HAsO42-		____________________________


b) CH3NH2		____________________________


c) SO42-			____________________________


d) H2PO4-			____________________________


